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PART - A : General Knowledge \‘}3\“’

1. Which of the following mineral deficiency causes anacmia ?
(A) lodine (B) Calcium (Cy Sodium (1) Iron

Rpdaatsri.. 6T GG L1 GEpanestied QIds Gamens sIDLIBSDSE ?
(AY o Cuimgair  (B) @smev@uih (CYy Garmiguieh (D) @mibry

2. According to 2011 census which State of India has lowest literacy rate ?
(A) Uttar Pradesh (B) Bihar
(C) Maharashtra (1) Odisha .

2011 b wasaOgrens sawdCls@onie iy, GHhSwnelsr srkg ombleod GapiES
srpdse) al&Geth Glsreir(ereng ¢ —

(A) 288 9gGsah (B), 1¥smi %ﬁﬁé
(C) iosmpmayeg it (D) cpeg.opm

3. The first telescope was invented by
(A) Johann Lippershey (BY Galileo
(C) Johannes Kepler (D) Claudius Ptolemy

(&6 (pgedisy BlgreneGprsGienns a_gpaunid&luiat
(A) Gegiraebr alliigGag (BY saSellGurr
() @&vie{,\@mm FINT s ) H@f{r\%mm) SrevLh ) é\ \
4. Matc!}\%\e/following: O:QV
O State Cropg & o
e P Karnataka a) Oilséeds
Q(,\' I} Assam b) - Abber S
(,“,..y {1 Kerala @)} ca Q’\\
& 1V) Gujarat <o dY Coffee 0"
Q Y J Q
(Ayd ¢ b a
(Bya b ¢ d
(Cyec d b a
(Mb ¢ a d

GlLtirmdaiss :

Lomblevid LiTser
1) sigmesn a) erarblanTyt aTldddaei
i1} ypevewmth by @uoiirni
I Gasgerm c) Gaufense
V) @wasonsd ¢y srul

T b |

(Ayd ¢ b a F@%i%
(B) a ¢ d [Bl ks
(C)c

b
™) b
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§_Fdxes can be used as an instrument for, soyrolling 4
N . : g N . ol . (‘.‘.;P‘\
(A) Inflation (3) Deflation (C) Stagflation (D} Disinfiatior
ol ereitiagl b SUGUILIGESID S5aTseT @etprs LGS S LGRS
(A) wewralsesdy  (B) weweumi b (C) Czssalssd (1) ber Liesaldath
L4
6. Which Newspaper was started by Tilak ?
, . {Eleps
{A) Commonwheel (B) Kesari
(C) Chakaravarthini (D) Swadesamitran
Bevsgred OlerL meil . g Nsensuen G)iwif
(A) smwerafed (B) Gsaf
(C) sspauidGe (D) #Csahlg@ et
7. Marine organisms such as Snails, Oysters Shell is made up of
(A) Calcium Carbonate (B) Calcrum Chloride
(C) Calcium Sulphate (D} Calcrum Oxide
Bhangsedr, DLniser Guiren sLcveunp o udfeasisatisr Goe g@B®6T erBeTmeh
2 BOUTESLILIRED S :
(A) srev@uib 5{1’#1{@@5. (B) smeb&uith @Qagmeni(® Y
BN ) O S
(C) smev@uih i@" Ll (D) &ﬂ@@u.ug&&mau@ : {,’,;\ --
R\ 0 :‘>
8. When was Wadras State renamed as Tamil Nadt&v" N: v
A) 1968, " B) 1971 C) 1969 D) 1970 2"
@t ® © 1% ) &
Lo 1omBlevih eriiGLing SLBIBTE @"Wumﬁ Lonppih Glupmar ? (,..,\\
() 1968 (B) 1971 2{C), 1969 (D) 1970 0,
Q Q Q
9. is called “Coagulation Vitamin”. Bl
(A) B, (B) E () K D) A i
Qs 2 anpieneud@Hib o uissds
(A) B, (B) E (C) K (D) A
10. In which district of Tamil Nadu Indira Gandhi Wildlife Sanctuary is located ?
{A) Coimbatore (B) Erode
(C) Kancheepuram (D) Tirunelvel
ST QBBITErsS) euewalevii@ FreRTIeOLILh GIh% LoTaIL L SEl6b
DI GOLDHHIGTOTE] ? :
(A) Gsmunbijdanr 1) #Gonk :
(C) sres&ymb (D) H@omevGeuas]
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\~:§\ é \\“.;\\\ \£.§\ ;
”‘;\,\"/ R . . M{b’\v . ‘ ;‘;\,\"/ {
7 k4 o ¥ .
’ »\V * »\V ® »\V
R\ Y A



. N -
C}\*\ -4- {,,.}\*\ B
\‘:e:lx\“’ 1. Match the following : \“‘:‘&v \‘X&v
1) Vetlore Revolt a) [831
1) Kol Revolt b) 1859
111) The Great Rebellion ¢y 1806
1V) Indigo Revolt d) 1857
0oy
(Ayc d a b iJ“"‘
B)c a d b et
Cyd ¢ b a
»ya b ¢ d :
Qim g s
1) Gaugrt i@ a) 1831
1) Ganed Benii& b) 1859
D) Quiprisasid ¢) 1806
V) sapbevdsnns Gomis d) 1857
I 0 0w o
We d gdb \\\«.% ~ \\\w&
©da” b a R o
Wb ¢ d R o o
& | & | &
(];?S\%hat 1s the chemical used to detect 2 bgs}eakage tn LPG cylinders ? C-x
«» ¥ (A) Mercaptan 0, (B) Propane AL
Q‘:‘ {C) Butane ‘*‘:?‘ (D) Methane ‘:’?:‘
LPG Bellevir._itamafich aumuyssfalenars sabr_ g sraren GeuBLiGLimgser
LG (B S L1 (RS MG/ [l
(A), CloaGsit_shr (B) yCorGiish i
(C) tPuyr Gr_etr (D) 165 Cspatr
13. Mac Mohan line is the boundary line between ?f
{A) India - Pakistan (B) Pakistan — Kashmir
(C) India ~ China (D) India — Afghanistan :
“Biod Guonses Gsn()” srepanpdsiiibd stavenevd o ROV
BIRsEnd % @ent.Guitinerg
(A) @B&wr ~ Lr@eivsmer (B rir&levsnesr — amayli
(C) @pBunr — Germ D) @s@uir - iisnalavsgms
& 5 &
& R Lo
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148 T ement 1 Karur is known as “Th%extile Capital” of Tamil Nadu. «;;1\'.’.;
Statement 11 © Tamil Nadu is the second Jargest software exporter in the countipnext to

Karnataka.
(A) Yonly correct (13} U only correct
(C) Tand 11 correct (D) Fand T wrong

eunrsEun | semit “SIApHIL 96T ClpFayd ganey BaHTD” GTGIDEPHSLILI B DS
suirh&uwid 1 1 peig.er QuoeTOLngser srHpiLoBuaed FABIL-BTo S D DEBBHIS SLOIPHAG)
@) pessi . meG i i@ Gladngh wrblevtnns 2 aeng).

(A) ¥ e (pub &if (B)Y 11 ot @i il
(O). 1 opmyed 11 &) (DY Tinpdmih 11 seupy

15, The Headquarters of ‘BRICS’ organisation
£

(A) London (B) Shanghai
(C) Bombay : () Dhaka
LR eIt I6T Sanaeniotii b SeDLoBGIFTET QL. 1D
(A) evedbrL_ebr (B), egrmismis
(C) tubomis 5 (D) r.ndsim .
- * w\ \
) Q 4 . . . . AN . a\“"‘ B
i6. Statement1 @ the car engine is started with headli @Qﬁ turned on, they sometimes Q¢
| & 9
abecome dim. A e
Statement ¥ Duc fo the internal resistance of th%ay‘baticry. &
- ¥ 3 ‘{:’"
(A) 1 01,\,&;;;(:01‘1'601; (B) li@nly correct ». ¥
((&%}d 1T correct (.I'Q&I,\a’\nd 1T wrong '((,\V
) C»" “K\
epsaund ¥ 1 sofled upsiny allend @rflyeh Beneoufeh eravrgglenevr @u.@@f,b%ﬁzmgy,
R . . 3 . " zv -
N (LpaLiL) efend&le \?r@%u Dl GHemmujih. QX
eunrgPuwh 11 1 smfey o arer hdrsmdGier Sysihleigem gpgd.  Hi
(A) T 1oL (pith & (B) 1 o1 Gib &l ¢ ket
(CY T topmyth 13 o) (D) 1 wmpnb 1 seumy
7. s the current increase in femperature of the Earth’s surface as well as its
atmosphere.
(A) Global warming (B) Acid rain
(C) Climate change (D) Environment
Hevh tdmith S e arere S&us Lol opmILb arefipar.aoth spGLITs HEGRE@LD
Gleutis BevevenwGw s1651 G G mib.
(A). L&l @t iiipwinaged (B) wyiblev Loenip
(C) wirew Hlenew 1oappLd (D) @EdHmdTsipet
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‘\;&{} 18. The Oscar Awards for the begt documentary was given to which among\'.{jlé'fbllowing ?
N (A) The Elephant Whisper$™\ (B) Allis quiet in the Ntﬁﬁ‘ern Front
() Stlumdog Millionaire (D} Dunkark
(Gesraigth ebS euewrlt LI SEH@  opeivst ailihg)” QupBISIIL G ?
(A), & 6160 GG eTeuLiiTen (B) gpeb @ov @i @6 & BrigGetr Liyesi
(C) eveuibl g thlevediutewi (D) 1 _str)iss '
19. Find out the wrong pair.
) Vedanthangal a) Chengalpet e
I1) Point Calimere b) Vilupuram
111y Mudumalai ¢} Nilgiris
1V) Mundanthurai d) Tirunelveli
(Ayl-a (B) I-b ) Ol ~c¢ (D) IV —d
SEUDTGH () enERTenit BesTL 5%
1) Geur_jgamised a) GaFmisavL’ () |
1) Gamiguidbsenr b) aflprieyged
D gpsineney c) BevGf
IV) ypessr_pgienp d) BupepaGoared
(A)1-a (B) iI-b (C)y Ul -c¢ (D) IV ~d
- \ {
20. .’]aisa]mmﬂ'gfnf:i park is located in ~®N§ ,&{\\
(A)*@tﬁm (]?.}gk\gjasthan {:Qv
(8 Odisha ~ Madhya Pradesh %
'@‘@gglﬁf&f@bmﬁ HADDY LBIGT m______'@;ﬁ DIEH LS GO, .6\"?’
4"&\ (A) @egund C.«,\\ (B) @imegeivg et Q,’\\
“«:‘;;; (C) gprgapr \:‘;‘Q (D) ws&Hurt tAgGseth “:?}{) ’
21. Children’s Day is celebrated on Nov. 14" because o
(A) It is the birthday of Tr. Jawaharlal Nehru ;%é

(B) Itis the birthday of Mahatma Gandhi
(C) It is the birthday of Tr. Subash Chandra Bose
(D) It has been declared so by UNO

GLphenssst e paubut 14 gy G ClenerL m L BIeUSDEIGT FTTenLd
(Ad By, savamiteney Sp euiseler tinss Seb

(BY wandion smpd seuisalics (9wbg Bewb

(C) Bs. suney @y Gunev euiseler L9pis Heb

(D) &Gl prEser #enu @aieinm Hplailsssmed
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23

atch the followmg .

1) Law of Constant Proportion
II) Cathode rays

111 Anode rays

IV) Neutron

I I I8 IV
(Ayc a d b
(B) a C
(Cyb ¢
yd a b ¢
Qs Hd i

D wrpr 698s ai%)
1) GsGgir(y s&/isar
1) oy, Gawn(p sHiisen
IV) Bl grmest \

I 11

O
ja 7]

(A) Electoral roll
(B) Campaign roll
(C) Polling roll

(D} Nomination roll

F@SBUSTCT GUTSSTETTHGIGT 11119 1ieb

(A), QUi merni LIt Ig 6D
(B) wpliyeny Ll g.uied
(C) eumdaselliiL] 1L g wad

(D) Aot Ll iguieh

. The list of eligible voters is called as

2,
N

o
2"
Q

a) Sir William Crookes
b) James Chadwick

¢) Joseph Proust

d) Goldstein

w8
]
[t

a) & eflevedliih @emdet
b) Gegrbew i alld
¢) Geprercs 116 parerL.
d) Gz _avieebr &
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N
\Qv
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»
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‘\:v 24. Match the following . A\ ‘\:v
I} Prithviraj Chauhan a) Slave Dynasty
1) Qutub-ud-din Aibak b) Rajputs
HI) Chengiz Khan ¢) Sayyid Dynasty
IV} Khizr Khan d) Mongot
I Hrow e
(Aya b ¢ d Eiash
(Byd ¢ b a
(Cyh a d ¢
Dye d a b
Qi EIs
1} Oupdabiomsh Glaensmer  a) S)G.60LD GULDILD
1) @gSetr gGlLid by @umenrig &t
1) GlamiGervasmes C) ENFUILG) ULDFLD
V) Sai saesr d) omGaneSuri
U 3 03 O A
(Aya b, ,c d N
- -
LIPS & 'S
) &)
a4 o e X
- & ~ -
wWYc d a b ™ ?é'
> d ¥ >4 ¥ .'Q
. NV . OV N
. '& New species originates by the pr \h accumulation of favourable variatit i was told by
&S £ X Qs :
o (A) Darwin 0" (B) Lamarck &
“:?‘ (C) Louis Pasteur “::" (1) Ernst Hackel ‘:’?:‘

LGV SEOG(LOGODEGTISE QIS wITdh I L. $agaLnmes SeumpinRaeiar

Car@inIarmet LyBw FDPlensiser o FeITEe NG Tes M Fngiluieu it

(A} L_miraTlesn (B) euvapmid” gﬁ}p‘*%
- A A i 3 s Y - * L4 . @‘8‘:‘1}}:
(C) epuflav Lrmeirg.uir (D) errabroner’. Glamdaet

26. Which battle was laid the foundation of the Mughal Empire ?
(A} Battle of Khanwa (B3) Battle of Chanderi
(C) First battle of Panipat (I3} Sccond battle of Panipat

@p&uraliev wpsevmw Gripga erbiil. g geembi’ . Guind ergy o

(A} srssraum Srame (B) a8 Gramy
(C) upsovmb wmastliarn’ Gruri (D) @yrevvreirth Lorantlie’ Grani
3 3
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. How many years lenure of the inh@*\fgan{, hayats 7

(A) Ten years (B) Five years
(C) Six years (D) Two years

FTALD LI@ RIS SiBGNGHT L @NESNEULD GTHS NG 2, Ger(Ber 9

(A} Liggy gpesrhiasen (B) @ibar opembae
(D) @) esor(B) oy, (hsai

(C) opmy 21 e0u (B e

28. During the muscle fatigue which acid is aceumulated in the muscles 7
(A) Citric acid (B) Acetic acid
(C) Hydrochioric acid (D) Lactic acid

senad Comialesr Grimg s1hs wjleoth gengsaflety Gosmor&ng ?
(A) @il opblevid (B) & 196 opflevth
(C) ewami. CumesGammils b, (D) eundigd opibavih

29. Amnesty International is an organisation which campaigns for
(A} Protection of animals from cruelty
(B) Protection of historic monuments 3’?@«
(C) Protection of human rights CE
(D) Protection of environment

SILHGIeTELY. @@z‘g TG mapewet areiianiih DEHLOLILY &:I@Q\ w1 Qadanmb GlEdieus 7

(A), thlimes a;m,m@cb@uu L ¢
(B) e j@)ﬂ_@@'@@mwm HOTIGT LITSGISTLIL \/‘:é
() wa;aﬂag,:;} RGBT L ITHIBILIL ,:;»
(D) a.n)rp,' @5LHGY L HTGIBITLILY :‘3,:”*
V >d
340, li@&fsm sthereignof  the Bu@. Monk Fahien from China visited K}é{%ﬁ
A} Chandragupta — 1 B) Samudragupta

\V (C) Chandragupta - 11 & (D) Kumaragupta -]
2 Q 1

WITEeDL_1L LB &TevdEleh f’mn@o)mj.& Garipg ClLiadsd Sipal u:‘?ﬁmwaﬂ

@Ewnelnes aipHmt 2
(AY apseomd FHE TS ST
(C) @uehn_mb sHSISUIST,

(B) aupsBlogrisi
(D) (Lpgh 6w b {HLLITI ) L}.@ s

31. Which is the largest oil field in India ?

o [l
(A) Ankleshwar oil field é,;;:‘

(B) Aliabet oil field
(C) Gujarat coast oil field
(D) Mumbai High oil field

@y Buinadled 10s 0GR i Grmediu G16ESTOIGWTIL GHILIGD GTE
(A oiaGavevant stesblenTis o160

(B) yaSwnGiu’ sresoblasiilt auutad

() @opins sL.paen sramblentis eueh

(I, gptbeots ensuD 6163 GlewT T GHILIGY
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(A) Viscous force

(C) Buoyant force

1Agdh @b Sevavg LnHuene S aprp @b @i Gimaelesr 155 Bumevag Gleaissith

Guoev@radGn eflsnaufesr QLT ereiear 7 i
(A) LirGhed afend (B) 2_gmiiag allens CE
(CY (Biwriny aleng (MY yefuficiy allena
33, Match the following .
1) Shiv Nadar a) Pepsi Co.
2} Narayan Moorthy b) HCL
3} Azim Premji ¢) Infosys
4) Indira Nooyt d) Wipro
(A) b, c, a d B)b,c d, a
(C) ¢, bg{;‘ﬁd (D) d&\ﬁ‘ﬁ b, ¢ &
e N\ O
LshigpdseusiralHen Quinmd g% ;;‘v ,:Q
o - <
~?’I a6l BT a) (?ﬁ:}if:@ @ (LpLoLh » v
6\"" 2} BAgmLGwT epis s ¢ C‘f—i’CL ' '\{;’ '
¥ 3y yedhh 19Gbgl) | 0T @erGrinilen Cn
Q‘ 4) @@ mrud ‘*:?“ ) Gy Q&x
(A) b, ¢, a, d BV b, ¢ d a
(Gfc, b, a, d @.d, a, b, c
H
34. The Commander-in-Chief of the Defence Forces is Bl
(A) The Defence Minister (B) The President of India
(C) The Prime Minister (D} None of the above
LIS LIG0 L _B6T6 Geneuanlo Q@i winty ©
(A) LsBIEALIL] HeNDFTFIT (B) @bHw Guoss FHENGVRUIT
(C) Hosioi (D) GopEesrt_ sTgIa)ib (Zeheney
S S
7 O &>
.2}\"’ 2}\.} \\)\
*“:}' ,,}2}» ~‘2§V
& sl o
A\'\\ A\'& A\&\

- R . . 4 v
~N 32. Name the upward force exa@ﬁﬁ)y water on a floating or partially SW‘ng body.
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(B) Frictional force

(D) Gravitational force
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> Match the following :
1} Green Carbon
Iy Grey Carbon
11D Blue Carbon
IV} Brown Carbon
S 1 S 1 L R A
(A)d ¢ b a
(Bya b d
()b ¢ d a
(D)ya b

c

O T(BDHBIB
1) Ligenind SiTiLic

1) &mibLich HAiTLIGH
1) fev asmiLies
IV) wpliny SoitLies

~
\,\w
c?@‘
\V
a) Calbon stored in Industrialized forests

b) Carbon stored in atmosphere and ocean
¢) Carbon stored in fossil fuel
d) Carbon stored in biosphere

a) Gemfles fEluins 2. (HOUTGSLILIID sn(poafics Cabids i
ST IGT

b) euefioessrt_evih LOHMILD gL eaaiiey Gahldsripih HmiTLe

¢) Gsmevayudit Lig.ai e1AGlLInT Guhlda (DD SiTiLIGH

d) o_ufisCamang Fed QatHd:ai 111D SIrTLIeH

| S U 11 I A
(Ayd ¢ b a )
o -
B)a b c;\\““& & \\N‘
@b ¢ X a N &
D) a ,{71“' Yid ¢ O D
. Sta®nelatl NITI Aayog .\'\V ) @Q '
"’,‘} (a) Is a Think-Tank. C..«,\ Q’\\
x‘.}‘*{lv (b) 1t replaced Pidﬂa}ﬁg > Commission of India. AL
| S\
Statement 11 : (c) Is headed by the President of India. s
(d) 1t has established in 2020. e
(A) Tonly correct (B) 11 only correct
(C) Tand IT correct (D) land 1} wrong
eurs@unbl: B oCwird
(a) @& PbsamST HULATHLD.
(b) @QiBwmalcr B . GLpailhe LGeons o (eUrSsL LS.
eumd@ub I : (¢) 58 28uié&er seoawall HLQTFS GEeVeLT.
(d) F& o,CuirdGlenas Birewrufdsia L gperE 2020,
(A) 1ot (ptb &l (B) 1w Gub &l
(C) 1 opayid 11 &l (D) 1 woppid 11 geums
”’« R\ <
\ é “"( %
O Q¢ !
\{:”\ \\:}\ ~6\ ‘
X K : D
v ,,,‘.w ‘
0T o ™
D & 2,
N & | o
AR
A A
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\‘?:@V 37. For which product Nd(;hlc‘i!k())i‘\% teceived G tag 7 \Q
(A) Mat (B) Coconut N
(C) Kuthuvilakku (D) Bronze icons
gaGmt Ganedley 61hs o DLUSE Quitmens el st @G ClLbpistang 2
(A Lomid (B) G
(O), @dauaiionss (D) Qeuedsevd Henew
38 waves used for cellular phones to transmit voice communication in UHF (Ultra
High Frequency) band. Rl
(A) Radio waves (B) Micro waves m;;
(C) Beta rays (D) Sound waves
Be i @ iGeuesy Ll ent setled blewediiGih enas U IGUFIUNGH GHIed garaieD
Qum_ e syee e GEDSI-
(A) Bg.Guiir amevsEern, (B) eniedGrm 2jenendeir
(C) L9 i sGiiser (D) epall ewaHalr
39. What is virtual water 7
(A) Water hidden in clouds
(B) Water available below the surface of the carth which is not easily accessible
(C) Water that can be ordered online .
(D) Wdtg@ﬁﬂiﬂlbd in the production process of\'\’kpi;wltuml/indusu ial product &\N‘z
NG &
Lofsmﬂ;@'r GTGHIMITGL GT65TGul @ N RS
(MNBrosmseied (DenpEBBHGD BT W’ Cr %
,\‘IB") LBsE o uilsd @psEh B, %ﬁTW@ eTallBieh Glavv._ &gy {:;"
\\ (C) enpBeny @enewriioifluing Q‘urp(ym)_u;w ‘Q’ .
¥ (D) ioenpbir 6T65TLIG) mﬁ?@wmuﬁ}‘agq@v@vcu OlammplhFrae o @11@@[1&7&»}5; T fJ’]c’})ULHJ@LD
N B wenpBiT eTew g}@@éﬁ NI OIAIES, Q«v
40. Which of the following exhibit both living and non-living characters ?
(A) Bacteria (B) Virus
(C) Fungt (DY Protozoa

Brpaeit. aupmled 618 2wl belen pmiLh o tfphp LissLsener GlaualiBiSsSns
(A) ramgie (B) eoeurav

, fEn E
(C) Lyerans (D) yGum Gr.nGamant iy
41. Who discovered Blood Group ?
(A) Louis Pasteur (B) Banting
(C) Holst (D) Landsteiner
@SS UG LILITL 6oL SR ST w2
(A) apruflenw ramefig iy, (BY Grigirig.ms
(C) Campravevr’. (DY Gevedwr et Gl_uRGlpi
4 Q
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”» M“, ~".
Ly N\ v
o, - - ¥
. N7 . OV LA
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W&imnmt 1. The combined forces u{.@-e Deccan Sultanates defeated Vij Jayd&‘gm in
1565 AD (CE) at the Battle of Talikota.

Statement 1 The Vijayanagar cmpire then shifted their capital further eventually to

Chandragiri. E
(A) Tonly correct (B) 11 only correct %ff%
(C) 1Tand 11 correct () 1and 11 wrong
oung@unp 1 8.9, (Quir..ap) 1565 — &b genavdEnim et Gt saasment
S0 M6HTH e NET Fol (HHILIEOIL afleuwinar TmF CHADSLYSFHeT.
eundSuih 1 alswpsimts Gripns Gamevaildel 196 @miirs $eTg) Se@bSeT
s PR @ appBhug.
(A) 1 ol Gith i) (B) I ot (b &if)
(C) 1 opmyd 1 ol (D) 1 wppits 11 gaumy

43. POCSO Act, 2012 gives protection to whom 7

(A) Girl child below 18 years of age
(B) Male child below 18 years of age
(C) Both Male and Girl child below 18 years of age

(D) Female above 1%; L8 years of age
~

GrindGsm a;;’_§gs, '7{]]2 THGEIC uxrggmru:mﬂas@‘g%ié\ ’
N\

(A) 18 auw gibriing Qiedr @1pibend AN

o\

(B) 18 GM} BUILbIITS 9 FT SLPHS w ol

(C), l&,\muu@g BITLBLIAG <9,&T LODOHD @um%gpmmg . .
w e Blgibishus Glaswdr (S1DHED & A)
3 &9

\‘P henolphthalein as an indicator Wln _colour in basic solution AL
S \.v

(A) Green (B) B ue
(C) Yellow (D) Pink

(el IGESET G(F HDBISIT g, @I BT seogaeder Garhs@th Hipib
(A) wdens (BY Bovih F!%E:}

ot

(C) Lo@paer (D) QrererFouiiy T

45. Boston Tea Party in 1773, incident was related to ___ War of Independence.

(A) Russian (B) French
(C) American (DY Chinese

1773-@)6 Blaspves riraivr_air GoBr ol Ghal 61bS b T aSl(RFanevrt (SLImgHL 667
QB TL.. e Ui

3

(A) eyt (B) Spmesrau ¢
(C) yChomsan (D) &evrir
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¥ 46. Who 1s Malala Yousaf Zail, v & v
\:V (A) A Pakistan activisfi@a@*f’n}a]e education N
{B) Beauty Queen — 2021
(C) Olympic medal winner athlete from Pakistan
(D) Pakistani Acior [
LOGUITGUIT (&1t FNE GIESTLIGUT Wit o falait
(A) Glussr sebaflssrar Lim&levgmafis g, e
(B) 2021 &b woypes mirenf]
(C) gaShvifd Lgdsh Qe LnGevsmer si_ser alph
(1)) rir&lefva mesr mig ot
47. Choose the correct option.
i) Linear motion a) Movement of a swing
11) Circular mofion b) A particle falling vertically downwards to the Earth
111) Rotational motion ¢) Motion of satellite around the Earth
iv) Vibratory motion d} Spinning of Earth about its own axis
T B T Y
(A)b ¢ 1 d
B)d a ¢ b
Cyb ¢ d a
Dye a d b
Filuiresr @emessraniid Gsim 650, . {
i) Cp{{h@’@’&mw@ Quudaib a) serEpFedeh L R
ii)@uw @wésth b) Lyafufien ol e &) adfluptd Glimgper '25‘*’ &
iij‘)“%-tp‘f_?j@ @udsib ¢) u@ﬁ?rﬁ?&&m@ FDpb ClFuwipenasd Gsmeir @w@;}b
‘x’?&b’j BT B wEsELh d) U«qeifg%?m} Gluamisgr serenaidgsnGer &;@@%’ Liih
o, . s ces . ’::.3 N . /\V
PN ii diE v LN Q
S (A b ¢ oa N psel A
b A [
\ (Byd, a ¢ by, ~C'? . ,,%
A\ Cxb ¢ d  as Q¥ N\
N Mye a d br N N
48. Glucose is a
(A) Disaccharide (B) Monosaccharide
(C) Polysaccharide (D) Isoleucine
& @psGameny sresr g
(A) @ eni & gidseng, (B) epenpd Fidgseng
(C) wotl.(d Fridseny (D) eoGoneprenaair
49. The author of the book “The Monk Who Sold His Ferrari” is
(A} Shiv Khera (B) Robin Sharma
{C) Prakash Aiyar {D) Stephen Covey
“The Monk Who Sold His Ferrari® sreip LSS HHeng st pHlusat
(A) afielr Gamr (B) gmlesr siom
(C) Aysnay souni ~~ (D) ewvie ueir Gamrad
4 ‘;}‘
6\‘“’} ~® ’ ~6\ =
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¢ b M{;& ”"‘,\V
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51.

52.

N
53.

54,

I L R N
”~» » ;\w AN
W o ”x‘\;”
i Nodl ™
F D & e,
S X N
AN 15N Sp
4 ’*% Q C“\K\
N4 ) g\’:‘; - v
“g?ﬁd the correctly matched pair. \“:x ..‘3‘:1\“’
(A) Garlic - Anti inflammatory cures skin disease
(B) Cardamon — Cures for skin and urinary problems
(C) Red Chilli — Used to reduce blood sugar 5
(D) Asafoetida — Vitamin — Arich T
aflwren @ensnrean Bie) Glodis.
(A) yes® — T SpH &, Comev aSwaBevut @& iuBSEID
(B) grovdsmis — Ggmed LoDnitd Puufos Gamenmpisener il i1t
(C) Feut'tny hlemrsmis — @D1ss556 shdsengiiler erenel &L HULIESSID
(D) Qgrismub — 2 uAidsdgl A LA BITesTg]
At what temperature will the Celsius and the Fahrenheit values be equal 7
(A) +40° (B) +100° (C)y 0° (D) ~40°
ohs Glarliileneuiled Qursv@ieny gyemayLh LUTHGTRNSL . HGTR{LD FLOLDIE @mdEd ?
(A). + 40° (B) + 100° (C) 0° (D) —40°
Dr. Verghese Kurein is the Father of _ Revolution.
(A) White Revoiuti@i‘z (B) Green Revolu{@a &
4 . ¢ O i
C) Blue Revolihpn (D) Red Rev n KA
( *%"v . z\‘)\l@ A%
wpemaiaui e & MiieT 0 uggﬁ%ﬁgﬁj@g TGS D EOLPSFLI \:é
> ¥ Y Ly
LGS '@" & R N
(A&\Q}um@mu gt & ?é){\ﬁ'&mwu Ly @%ﬁf‘f :\6’\\»
(&) "Boors L8 - Faulils Ljg A ' C»g\
Where is Manas Biosphere Reserve is Meated ? ~N
(A) Assam (B) Meghalaya
(C) West Bengal (D) Himachal Pradesh
ingsrrat o uGitEGarers STLILISD 6THIE SYEOLDBSI ST ?
(A) eveuaLh (B) Grogaevwim
(C) Guop@ atmisLd (D) @uondoe LgGpah
_ becamethe first Buropean power to establish trade link with India. a
(A) Portuguese (B) French
(C) Danes (D) Dutch ‘
@b SITeL..a8 ouefis 2 peveu Hlpialil (LpSev eoGpraius pir g6t :-
(A BLirid g BH Wi (B) 19Qr@paasmit
(C) GL.aflagmt (D) L.g&samT 5
N é - g
O O -t
¥ & &
Kooy o ‘\;} :
Dy ) ~ 9
o, N ™
. »\V ,::‘; y ¢
N W Y
A Y A\,\@\’
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. World AIDS Day mse1'\fec1 on N
(A} October — 2 (B) December - 1
(€Y January ~ 20 (D) Fune -5 ﬁ;
i,
o v sTdILa0 Fenb senishesli G BreT et
(AY B 2 (B), tg.abrit ]
() mavreuifl — 26 (D) aroeir 5
56, Statement ] Lapse rate is the decrease of Temperature at the rate of 6.5°C for every
1000 meters of ascent.
Seatement IF ;1 Jet streams are the fast moving winds blowing in a narrow zone in the

upper atmosphere.
(A) 1 only correct (B3) 1I only correct
(C) Tand 1T correct (D) Iand Il wrong
Statement 1: Qasli@Gene) aN@sh ereipiTed et Gleumgs 1000 bl o HITESUD LD
6.5°C Graip afResGiev Qeuriflency Gepifid.

Statement 1 auafien gl 2wl g;@&)oa,wﬂﬁu SIS LigHsolc Geisons §

A&
§ : BEEHLD STDDISHET @g&&\&n‘mggm sTeTE B mib. 6\“"3
§> (AY Lintl(pih &l \V (B) 11 ot (b &l :\S:»’
™ () 1 opayeh 11 &f w“ (D) Veopprp W goup (JO°
o ¥ N j Y
. N\ &’ v
\\Q' &7, Statementl : A 10w1\}?\<khdyat has about 10,000 population, Itéﬁ)’étwcun a village and
0, a catz (.»,
N Statement IF 3&%0 areas which have a population of n%ﬁ‘fdn one lakh and high amount
of revenue and is found in the level below the City Municipal Corporation
is called a Municipality. | I‘]P”D
(A) T only correct (B) 1I only correct E:l
() Fand 1T correct (D) 1and I wrong
ourg&nnn 1 wwni 10 yuigh Guil euimiphdniq i 2aITs @wpsms Greprm 5
Freli(hD. @Bl BSTSBDHESID, FrmiodBDEGLD @l il oer.
ourdGub W rpey’ §8@& aBss Beeuild, $0 GOLLFSHBIS LD BB LDITETE
DEGET GBTensuL 65T, UG B @) BE@ LD oS BEHI G
GIGILH (LD,
(A) 1ot (b ol (B) 1wl b &
(CY 1 w1 ol (DY 1 opayed 1 ey
~ 3 4
: Q - 3
S ¥ ¥
SN R,
e v ¥4
P N \ad
N 25 ~
& ol ~ O
A\’\\ A\”\Q\' A\&\
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88, In which district of Tamil Nadu, (“Qi}??ﬁnmalvar a supporter and expert of, af;gmic farming

founded Vaanagam ? “gf%lgé
bt

59.

60.

4
X

(m‘(é) @ rrnebt pafldFgper

Q;%Y Which layer of the atmosphere p;;g&qb‘f us from falling meteors ?

(B) Salem
(D) Tirunelveli

(A) Karur

(C) Namakkal
@Qumena BeuarirehrenLoiiled LBTOUITGT LDDDILD G2 GOGVID 60 Ganr. BLOLOTLPEUTIT
BUTGHIHLD GTEID Sy Lot 1L e &sT gLLS?bbrfEITL;Lg_Gi) GBI, Hayadewrmit ¢

(B) Gsauib

(D) B GlpedGaued!

(A) semi
(C) mmodaet

Countries where Tamil is an official language are
(A) Pakistan and Nepal (B) Canada, Malaysia
(C) Mauritius, Seychelles (D) Singapore, Sri Lanka

sUlip Sjavreusd Quonifluims o erer B , 9L@Lh
(A) Lim@ervgmetr, GpLimerth (B) aarn, toGev&wr
(C) Guorflaflwen, Gsaysbe (D) @misliyf, @evsiens
Colour of the sun appears red at Sunrise and Sunset because of
" i ) v 1A . 4
(A) Mie Scati@g& (B) Raylelghis:‘ﬁcattermg ,{\‘*«3
(D) 'I‘ynd@cattering {:,\

(& Rama}i&éﬁering ® |
@i M‘iuw LDt e DTG Grimg @Mﬁv"@wmun&; &L Fels s eﬁfrgr(smfb&s;"
P ¢ ¥ by
(A{\%ﬁ—@@ﬂ#@g@@ ) (@ rrGev gefFFHmed ¥
a"\'&) 19.GRTL.T6D GpaTIFFIG DD \,\\

o4

Q

£y
X

(B) Thermosphere
(D) Stratosphere

(A) Exosphere
(C) Mesosphere
et GloueufeSimia alipid eletnspaanadiphs! poemio LITGISTHESD KBS a8l ¢
(A) Gareliu®éE (B) GeuciieiBiéaw —

(C) @enw®msS (D} ient wBhE é;g;}

62. Which of the following is not a condition for becoming the citizen of India ?

(B) Descent
(D) Naturalization

(A) Birth

(C) Acquiring property
Brpd L eaIsalled 615G eI @B @guifenie Gipib aufiiperp Sjevew ?

(A) GwinSier epevih (B) euthem euyfluliesr etpaoth

(C)y Qenggifenin Gupieigaer apsod (D) Guicbiy @ flenio eLpeuth

& S &

| & 9

RS & red
Y\ N & y
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Q¥ 63. Statementl : Acid raj_(g‘:s‘“éaused due to the presence of Sulphq&ﬁ.romdes and oxides of

Nitrogen in the atmosphere.

Seatement I - Acid rain is helpful for the growth of marine life.

(A) Statement | is correct (B} Statement H 1s correct
(C) Staterent I and 1} are correct (D) Statement I and Il are incorrect
anmmi k - siflevtpenip el LOGETLeGEIG 2 6IreT FEDLIT L 2 SenF(h LoDOILD
L geneles densBrEanTe 2_(FUTHDE!-
gammi 11 gL B e o udiflarsisen aaTiEGEE Sbleweip o SaEIPSI.
(A) sappr b ol (B aopmy 1l &l
(C) gnpmi 1 topmid 11 &l (D) apmi | wpprd I seuni Bl
64. Statement I : 44" Chess Olympiad games held at Mamallapuram near Chennai
during 2022.
Statement Yf : Chess Olympiad games are conducted once in 4 ycars.
(A} 1 only correct (B) Il only correct
(C) Tand Il correct (D) Yand IT wrong
G)JITQ;:@JL"DE © 44 oug GlFev gpedibiiwim’ @.ﬁﬁ_&ﬁﬁﬁ Qaerensiranitt HBFS SN
‘C\V iripevevLrg et 2022 Lb\: L_th BeL GIIDDS!- \:;\
s{\,’g@?n&@mm I Qe eadlbefusm’ 4 @%@&@aﬁ@ RBULPEND [BL B @D ng&_@wﬂ@
2, " (A) Ll@ub o Y (B) U @b & et
& () 1 wppnb 1L A, & O lwppdUsom o

S o

& 65. In which district is Pulanguyichi Inscription found ?
QQ X
(A) Virudhunagar N . (B) Tuticorin
(C) Tirunelveh (D) Sivagangai
LT GPIFE) s Qe () SeEL_HSsL’ L 1oaa LD GTE ?
(A) ofipsipei, (B) @i1ssi5S1-
() B@mOpevGaied (D) Qeusnians
66. Which is the capital of Ukraine ?

. (A) Moscow (B) Kiev

) (C) St. Petersburg (D) Lviv
o_dien geul |6 SEeVBHILD 61H ?
(A) wireGaT (B) Bl
(C) Qaufehnn’ 1 i e Lifd, (D) aSadisis

a2 A 3
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67..‘?‘& ise is a strip of alloy wire which is aQec"up of Q

(A) Antimony and tin

(B) Lead and in

(C) Platinum and lead (I3} Copper and iron

hletr o.@5&) 61 2 Bevnsd sevenenufarieh Guwnmildasi i BE D

(A) opevvrig.Loent! 1oHmith Sirfub (B) Olewareuid opmith smifusth

(C) Sewrmigemd wppnd Glewerefwieh (1) smblyh wopmih @yusibey

68. What is the expansion of RT-PCR ? fj"”’%g
. . . . [y
(A) Real Time — Polymerase Chain Reaction

(B) Reverse Transcription - Polymerase Chain Reaction
(C) Reverse Transcription — Positive Cham Reaction

(D) Reverse Transcription — Polymerase Covid Reaction

RT-PCR @etr efifleundaih eresres 9

(A) Mwed ent.ib — LneShoGren Geuder Muindeapes

(B) Mawirarv 1g prsireio&miioyssr — LimeSito Gpelv Olaullesr Miindeayes

(C) Mewrrary Lq,nmmw@fﬂum,mr — L1rflig.eir Qlaudiehr Mwindeanett

» S
(D) Meurtei ngn@@@fﬁuswm —~ tiredinGrey Gamad @.'fmmgfm R
\
:> $ :> z'\;>
69. ‘VY()la_Jel.:11it1§;€e¥"{1(iy robot - related to .%{," \: o
(A} (ia;;]@y’aall Mission (B) l\‘i}g%@g'aiyaan Mission ’ ‘@; y
C) LQendrayaan Mission DARSLV - C46 Mission D
( )(&s y ( % N
‘\;@ngnwﬂgﬂr arasrenith ‘ Gliresdr (D&@JIT STHEOIL_GET Gl 1./t {601t 2\;‘: ’
\(A) & GHTILITEN G LD N (B) tomimairurmetr @il g..ib N
(C) sb@omuett GIL.1b (1) 19616, 616009, ~ & 40 Gt 1b
70. Statement I : Three systems of revenue collection had been infroduced by the Britist
Statement 11 : ‘Ryot” means cultivator.
I 1AL
{A) only correct (B) I only correct B
, -y . [l
(C) 1 and H correct (13 Tand Il wrong
GG | : g m1&GCevniTHenTed ppsiiml GUEHSUITET QUITEUTII QFE (LPenD
N APFECNIDEFEVIIL LGl
aundGund I puid eraipret aflengmudl eresrgy GlLimaper.
(A) I o (b & (BY I ol (b &,
(C) | opmyen 11 o) (DY 1 topmiih H gaumy.
~ & A
O Q4 QO 4
S o o
R > ;¥
”xb. Mx’b, ~x'.~
> > >
7 ¥ ay ¥ .
. O\ . N . N
R\ N N
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@;ﬁ;}; use is a strip of alloy wire which ;@f}’fgéc up of <
(A) Antimony and tin (B) Lead and tin

(C) Platinum and lead () Copper and iron

1hast o) s1ibs 2 .Govnad seveneuuilanied SwnMssiiGiEps

(A) gpeviigioent opmyih smifiih (B) Gleuairafush opymith Hnduirh

(C) e igenb oppib Gevenafuih (D) gmblob whnith (@ apibey
68, What is the expansion of RT-PCR ? ?J;glg

(A) Real Time - Polymerase Chain Reaction e

(B) Reverse Transcription — Polymerase Chain Reaction

(C) Reverse Transcription — Positive Chain Reaction

(D) Reverse Transcription ~ Polymerase Covid Reaction

RT-PCR @)eir afliflaundasih eresrar ?

(A) Mwed e _1b — 1L1reSo@gaiv Glauflssr Muwimdape

(B), Meuietv 19 grameroGiilLiogesr — Linatio B Qlaudlesr M ayer

(C) Mauierv 191 Jﬂ@me‘m@rﬂu@gf@m — wmrihg.er Qeudesr Mitirdeyast

(D) Aleuiov 19. @pr@fﬂr Taper — LiredlinG et @JITQSK““\jﬂUJWJG)?}W S

\V & &

69. ‘Vyomam:l};}. lady robot - related to \ :>

(A) (xa’ga‘nydan Mission (B) M’mga yaan Mission Oy
(C{\',E‘Zﬁaﬂd;ayaan Mission @‘P‘SI Vo C46 Mission .&V

X D
%ﬁ?@mrwuﬂ@)n sraianyLh < GlLiedr G%’an 4T GTIHEL_6T GIHmL :TL;Gm_u_fwg &"5\

: *Q‘:* (A) sserwnes i r.b \v (B) ipmrgemwimer Gt L b \V
(C) smSomuest St .ib (D) 19610, 5760, 07, — & 46 r@LWL._LD

70. Statement I : Three systems of revenue colfection had been introduced by the British.
Statement 1§ ; ‘Ryot’ means cultivator.
(A) 1 only correct (B) 1l only correct % =

(C) T and I correct () 1and I wrong

aums@Eunb I G CoowsiGemred opeiig IeNSWITET QUBRITL! Q@6 (LPERD
c@{g{ﬁ?@pdﬁuu@ﬁ?jg%’!.JIJL,,.‘I.N.:_{_E)_I.

aung&unb 1+ mwug sresypmey afleusmud aresimy OlLITHT.

(A) 1 o’ (ptb &ill (B) 1o Gub afl,

(C)Y 1 ipppnd 1 e (D) 1 opmieh 1 $aupt-

N “:}‘ <
Q) 3
o Pk S
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7L. India’s Gaganyaan MisgiQg™s related to \

72. Match the following :

&

74.

&
N

. Which one is required to produce acceleration of a body ?

. .\'\V

-2
& O

(A) Human Space Flight Programme
(B) Artificial Rain Scheme

(C) Scheme on Rain Water Harvesting
(D) Scheme on Electric Vehicles

RubBwrellesT sssiuims hanet s e Olgi it jent_wig ?
(A) wells afetwrOlesefl LiwegEL i 1h.
(BY Geupens oenp St ib

(C) toemppibir Caafioy G ib

(D) hlabrarny cunsemiiserds e B L

il
B
(g

1) Rani Rampal a) Weight lifting

1) Mithali Raj b} Running

111) Hima Das c) Cricket

iv) Mirabai Chanu d) Hockey
(Ayc, d, a, b (B)ya, b, ¢, d
(Cyd, ¢, a, b (D) d, ¢, b, a
L,%z’smu@r\si}(‘mmjmsm‘@ AINGEY I AN
1) T Teh a) u &,
N5 Tas ggh | b) G@Fe

wilf) afior e %}’f;&\fﬂcﬁ@w;

¥

iv) Wlgmuimds Frgyy DTS E)

@ c d a b Ny @ a b, c d
(C)d, ¢, a, b A& Dy d, ¢ b, a
E x E
N

(A) Velocity (B) Force

(C) Density (D) Displacement
Gipaadr_oupgyer QuirgelngG up(sssGiener TPLIBESBING 618 ©
(A) GewaBaisid (B) afans ™ B
(C) s (D) @ Qi B s

Which Article provides the Constitutional Remedies to the citizens at the Supreme Court ?
(A) Article-21 (B) Article-32 (C) Article-15 (D) Article-18

2.45 B&loesind Gl apeuih (SLYLOEH @R @ S pFeLniILy FL . tiflamyh OIS D
615G 2. mitiy eufleuens GlauiBna o .

(A e g2 (BY o gyriny-32 (©C) 215 (D) o gying-18

4 &

NE P
& A\

*«.b D

¢ o, ¥ ‘4
3 . . L »\:0/




”&'b’w {:;"\w ~".:>’W
."i‘?’* ~§?~ ~?~
> a8 & B
Q%tatement I : Vegetables and fruj‘tfi{a,ré appealing because of their brightsand variable
colours which are de to pigments present in the plastids oPplant cells.
Statement I : Chlorophyll is the green pigment of leafy vegetables.
{A) 1only correct (B) II only correct g
(C) 1and 11 correct (D) Iand I wrong B
oung@unb 1 sraugd Qasdselear seafismsalaydrar Bptllsermed, &mispls
LOD@ILD LILDBIS 6T &EoTenEosTS: Sau(TLD LNT&IFLLAGH LGy afls Bpisisefish
Fr FteNE G S THe.
aund@uub 1 . @ CarnGumo’orfed sraptb FlpLb] SrlisHs@d@ LdmF Bimdang
IR
(A) I o’ Bib & (B) I ol b &
(C) 1 opayih 11 & (D) 1 odmyeh 11 soumy
76. Match the following
a) India 1) Dollar
b) Australia 2} Rupee
¢) Malaysia 3) Riyal
d) Saudi Arabia\\\% 4) Ringgit § Q \\\N‘
A)3, 2, 1,a&T B)2, 1,4, 3 C)y 1, 2,5% D) 4, 3,2, 1 2
®)3.2. 14 ®) ©128% O ¥
@un@fg}g@}’: u{?;v e
a)\ ﬁ,hunr ' 1) Lwrr@;r'\(’, ' Q&"
DB Gratiuim 2) (,.}'\\
& '(':') Lo GevGlusm 3){:’17‘?11111@ Y
N ) sey®) G D VR EAT AT Y
(A)3, 2, 1,4 B)2,1,4,3 1, 2,3, 4 (DY 4, 3, 2, 1
]
77. Statement I : Since snakes do not have legs, they use their muscles and scales to move.

Statement Il : Movement of snake is called ghiding.
(A) 1 only correct (B) I only correct r@ﬁ«

(C) I and II correct (D) I and H wrong e

aurE@Eunbd I | LmbLSEsd@ SIS EenL_Ung. BSTOUSHE A6 SHIBETH HeO&FHGT
wHih GleBlebsenarts LiuetLi (s Hles e

eurs®unb 1L 1 Lmbyy psiealg) tOghs oeiged eTeriit(Bib.

(A) 1 iot” (b &if) (B) Il w1 (b &M
(CY 1 opmyih H &l ¥ (D} 1 wopmrib 11 seumy
”6\ ‘ ~®~§ 6\.’.‘:
N2 . A& <
.“;‘}"é M&‘;\} x‘:ov
ol “‘?" ~» ?~ 2y ?~
* ”\V N »\V . \ ¥

A\'& A\'& A\&\
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Q; 78. Match the following : < ¢ &
(National Parks) \"\:‘ (States) \‘?‘“
1) Gir a) Gujarat
1) Ranthambore b) Rajasthan
1} Sanjay Gandhi ¢) Maharashtra
IV) Corbet d) Uttarakhand
IOIF HI IV
(Aya b ¢ d st
(Bya d ¢ b e
(Cye d a b
D)yc a b d
CUITmHSHSIS
(Ca&iur Lymizm) {1omBlevib)
1) &ur a) (Gaouns
)y gpsbGuimr b) preeva et
NI} eyt srBs) C) LDSTTITNNLY TIT
IV) i@ d) 2 SsusH e
I HI IV .
(A) d\\“’m ¢ d ) \\\““‘
d ¢ b 2}
?75'& a b ’{}é‘})
, % (D)c a b d ¢ . »
N7 '\, . N7
(3-\\*\ 79. Which of the following is az@@%\ ctric % Q}'\Q\
Vi v (A) Silver (B) C\pp'cl (C) Glass (D) dron
B1phHETL_ LD MI6IT L&“ﬁ%@mm_m:__g,mg,& SLFSH NS @ungm‘?@u ?
(A) Glavsirerm (B) smibigib (C) wewremrmig. (1) @pibry
80. Select the correct answer.
(A) Rajya Sabha - 300 members e
(B) Tamil Nadu Legistature - 120 members
(C) Lok Sabha - 545 members
(D) Pondicherry Legislature — 100 members
Fiftuimesr afeni.eniwtd Cuihols .
(A) wiblevsiseransy - 300 o myinferiselr
(B) sibips sl apeimid — 120 2 prinferiser
(C) 1odsarenas ~ 545 o mp lesiiaelr
(D) wmresrg. &0 o upeipib — 100 2 gy fewissir
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81. Fill in the blank.
Each of the teams given a trophy.
(A) were (B) have (C) was (D} does
82. Fill in the blank with the appropriate prepositional phrase.
I can’t accept your invitation _aprevious engagement.
(A} In spite of {(B) In case of
(C) Owing to (D) 1n the event of
83. Choose the correct sentence.
(A) Neither Mani nor Mohan were given a trophy p,ﬁa
(B) Neither Mani nor Mohan was given a trophy it
(C) Neither Mani nor Mohan have given a trophy
(D) Mani neither nor Mohan is given a trophy
84. Choose the right question tag for the following :
He often slept, _
(A) had not he, (B) 1sn 1 he (C) wasn’t he (D) didn’t he
85. Fill with suitable form of the verb.
If Mary had an umbrella, she fend it
(A) will (B) will be (C) would (D} would be
86. Choose the correct lggmtcd form for the foilowmgj sentence.
Ram said to Rakesn,41 want an ice cream” /\““3
(A) Ram said ahésh he wants an ice cream SO
(B) Ram tol esh that he wanted an ice cream :}
(C) Ram satdio Rakesh that he wants an ice uedm\v
(D) Ram’{b‘ld to Rakesh that he wants ice cream .
87. Choos@tﬁe word that can not be added after < L
(&‘h (B) board %@ note (D) lock Q’\\\
8& Q;latch the following Antonyms : d 0"
1) Shady A Calm Q
II) Bored b) Sunny
I11) Panic ¢} Slow
1V) Hasty d) Interested
I n I v
(A) b d a ¢ R
(B) a b c d
(Cyd ¢ b a
D) ¢ a d b
89. Choose the correct meaning of the idiom “Onee In a Blue Moon™.
(A) Undefined (BY Randomly
(C) Very rarely (D) Wat(,hmé, carefully .
90, Statement I : The idiom ‘Kick The Bucket’ means ‘to die’.
Statement I : The 1diom ‘Bad Egg’ means ‘A Dishonest or 1i]-behaved Person’.
(A) I only correct (B) 1l only correct
(C) I'and I correct (D) Tand 1} wrong
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(A) flevey N (B) @owipena
(C) g emamrd sdsaLh (D} spanassr
92. ‘sl uGlaniib’ — eretigin Gloensvenevs LIRSS sTupsS Gemi L1L1gy
(A) &its+ Glaniiih (BY &1’ + Glesiib
(CY @iy + Qlauind (D} s rih + Glouiib

93. wenev + srevmb craTLigenend Caiday oTpsd GevL. @b Glrmed
(A) LoemaveTevmLh (B) enevGhwevmd
(C) rLosmevOlursvevinh (Df weweversvevmh
94. ‘PHARMACIST - srabrigpanan samevd Gensenavd Csin6lshdsaib.
(Ao togppsmemist (BY ogmdaiant (C) Qeafallui (D) weig
95. s auipgl e wrGifudsen Glaflus — @S6gm M 2 drar LAeipsenars BmsH)
STUPGIS.
(A} s euipgt getenr won@ifludever Glehug). &%
(B), @iiis eugp&peut seueny wrGfuiicder Qsh&Eng. [y
(C) 2iiGa aumSpant oeuengiGLimed oyevavanr ClsMEnm,
(D) ymisGs euitpay spsumLon@imufcoer GlaM&Enmi.

96. Glacrenenullsir LjmLpshed snapins Bi@h LhCamy sal Biyearmser
BB CeuITTe) GDLIMSSLILIL L oau — aflent_sBEHD afesir ieninds.
(A) Closranaruflesr yaups@d snsipns Sh@h 1160Cagy sad Blpieueiiser wmgm

SepUGSSLILI L e 2 N o
. . . . Y - S oo O
@ Oloaiten aruNetr L% psed acfmu@{@;ﬁ?rrp@w LicOGeumy BlmyessorsIdser u,@r@v
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&Y (O) Oeatrenawuletr g{@U)L,,_IIJHGWWtéﬁ Saupth LiebGeumy satlimy @W@&sm wIT,
Y SDUBSSLII L ey 2 Y I ¢ f
. .@w (D) @qaﬁvga.@’r@m_L,f&v;ggpei,@’&maﬁrr@mﬂs Bo@ib s Geuny ermtu:\ CUGUTBIS G WITIHIT
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.Y 97, “elarbifet oo fi] seypeodiip GlFaba’ &
Q} DG FCEmg L 1 CgmedaSian @)evss e @iy QX
(A) oS Glam it B), @ e &6
(C) mpyClal . er@iioep Quuw@ndab(D) Glsmn6 i

98. Gupdangmb blamebeliah (Qlevdsems@PI LIS Fnmiss.
Glmip Glmmy
(A) Glamplne it (B) o Pd@dOsm_i
(C) @i enr d&lenad (D) araued spupenio afenespmy

99. semwasyr @Qenewrentid eIy
(A} Blawmer — o paieni (B) Guenguwimi — oyfleupdmenr
(C) ovpgout — eupleurt (D) Grimpmmi ~ Guweur
100. emdSund § 1 HeoliuBlenmb upseonen @ed@usiselayh yp L1 G} LT i 6l
lauadhrLImbieney craianith @evdaenr mraSlaih armyGemsir NG E15
Fon DU (B GITeN
sunrdh@und 1 1 amusapeissd) Gilss18 spnb mred ufum . (a1 1E]
X = < N E’:. P
(A) Vit Gub &if (B) 1} wor (b arif) (i) e
(C) 1 ogmd 1 ef (D) 1 odayid 11 seuny
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i the following Pie graph carefully and tm“:@’wer 2 questions given below (101 — 10@5

(DGTGUEHLD DL GUENTLIL $eng SeUeiLons 119Sgh SGp GlanHSsLii’ ferer
Gaerafls@pd@ (101 ~ 102) LuBevelldsalib.

Cost estimated by a family in renovation of their house, Total cost estimated is Rs. 1,20,000.

(5 G (PUbLLD SEISEEDL 16T oL L1 g in Wb Glsevay erp. 1,20,000 6T6sT LOGW IS0 1t " (DGIT6VIZHie

Misceltancous E‘ﬂ;&[;}
29% Architect fee » E";ﬁ‘
Y o F] g
. : 11%
Flooring
4%

Painting ,

15%
Electricals
13%
y _ gsogese/  Furniture
S 1
Plumbin ] AN
EPRPIN
3 Interior
AN decoration * <
‘:§ ‘ 1o ”,{\“\‘ ~é\ ’ ;
161. What is the cqs\éstimated by the family on painting an@ﬁoring together ? :\}V
o M“' ~‘.~
(A) Rs. 36300 (B), Rsx34800 »
$ - ¥ P ¢
(C) Ro&36,000 (D) & 34,500 &
> & &
@Q}ﬁmfmwg.fﬁ: wHmnith seogGeaienew @6@%@\1& Guiids @& @LbLiLh w@dﬂ@m@ww
“, o4 . ",:/ (z\’:}
\‘\s‘\ﬁ’r@rm ? .j:?x ..‘3‘«
(A) em. 36,500 (B) ep. 34,800
(C) e5. 36,000 (D) ep. 34,500
102. What is the difference in the amount estimated by the family on Interior Decoration
and Architect fees ? _
| | o
{A) Rs. 10,000 (B) Rs. 9,500 g
(C) Rs. 7,200 (D) Rs. 9,600
o GTEIE@D EBISNTLD oPmith HLigL.d GenevEhT L auSBled & (PibtigFewrgimed
& S0 L. Clsransuled eretter alGBUITFID ?
(A) em. 10,000 (B} e, 9,500
(C) em. 7,200 (D)rem. 9,600
\£§\ ¢ \"6\ 4 ~6\ ‘.!“.E
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> g,}'\\ -26- a»\\ B
. How many times in 12 hours@e\ﬁands of a clock will be at right angles ?
(A) 12 (B) 16 5:'4
(C) 18 (D) 24 el
R SYSTISBET o085 12 and) GpugHed stbgenet (Lpep CriGsrentsEsh Bld@th o
(A) 12 (B) 16
(©) 18 (D) 24
3 I 1 .
104. Saravanan’s father bought ZEm, 25171, IEIH of cloth, Find the total length of the cloth
bought by him.
(4) 5L ®) 51m
4 2
1 4 1
(©) 6-m D)y *7m
UGG EOL Mt SHEF TBIEN GienfluisT Sferajmer 2-31 8,2 1 15 LoDayLh 1»}« 18 eT6afleh
it euiBluy gienflullcr Qlondg Serh 4 2 4 3
| < S S
3 N N\
10 kSS"\ AV
(A) 5—B8& B) 5:§., o
o < -
’{s.}l"’ . Oy 1 “'x
(C) 6= .5 4=18 Ny
S S o
1Q5§\/arun travelled 7 kms eastward, thel@led left and travelled 5 kms. Next he turned left and
o L O . N4
\i&v travelled 7 kms. How far was h@bﬁl the starting point ? AN\ [.E
(A) 19 kms (B) 12 kms (C) 7 kms (D) 5 kms
e Flipds Crrss 7 &b, vwesfigsmi, (e @ gymib BapLbis 5 &..85.
Liwieshi$g . o (BDda) et Qg pLb Ssibrd 7 &)L, LIwtGsiG S M. et gy mibt Ndes
QIS8 sTeireuerey symh Olgmansvalleh o sirenmi o
(A) 19 &..15. (B) 12 &..8. (C) 7 &).15. (D) 5 &..8.
106. Which one is equal to (9a’b)y? ?
(A) 9%a%p? (B) 18a%h? (C) 3%’ (D) 3%a*?
(9a’b) & siomen sradr
(A) 9%ab? (B) 18a%? (©), 3%a*? “ (D) 3%a%h?
b oa ‘wmﬁ/l 3
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R\ \& \&
.‘iﬁ’f. If A x B means A is the brother of B"%d A+ B means A is the father of B that which one
means that ‘M’ is the nephew of ‘N’ 7 e
. e
(A) N+ M xK " (B NxK+M ‘
(C)y MxK+N (D) KxM+N

A X B erebrpmed A ereiriouit B uPeir #Qasns it opmih A+ B eresypred A srairLiasi B uasr

FHEES HILILUQUITGTNTED ‘M’ m@&Tuaw'rj;Ij; 651 #BSISIGH LOSHCT GTGHILIG 6TH 7
: e S b

(A) N+MxK @ Nx M g~ P
(C) MxK+N (D) K x M+ N s

108. Which of the following diagram indicates the best relation between Jeaf, seed and root ?

(A) @ O (B) @D

(©) Q O (D) ,
- $
O\A\\ ‘ &
\ ¥ \4)
S K

WO ¢
e @yt disalieh agl @Geme, allang CHMILD Gourt 9 BseuDIIFH G
@an L Buruwsrest Sphs CEmL_iteniid @ﬁ?@ﬁ@& 9

Moo SO &
0 (O U o
O

109. Find the side of the equilateral triangle of perimeter 129 cm.

(A) 42 cm (B) 43 cm
(C) 53 em (’D£ 1’6;3 om
G FwLds (pslasramigBler sppeare V29 Q.8 sreafle, BT L1GE T 6
& ITGRST S5 g
(A) 42 cm (B) 43 cm  fang
(C) 53cm D 63 cm
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116. A family consisted of a n?é‘ﬁ, his wife, his three sons, their wwes‘*a‘?’ﬂﬁ three children in cach

son’s family. How many members are there i their family ?

(A) 12 (B) 13 ““tgﬂw(C) 15&\ By 17

R0 (GHULDLISHIG) G 2 T0T, eUIG LOGTaT), DG CLPESRY LOBETHET, Bou Tl

toeneTal Bl oM myLh eeitblauiyh Loses @ (IDLIGHeND (LPeny GLpHMGHET o ciTeretii.

@GHUbLGHeh aTdgGenet 2. piifleriser o cTerert © B

(A) 12 (B) 13 ()15 R 17 i
Study the following table carefully and answer the-3 questions given below (111 — 113).

O ETRESLILIL (BIGTGT LL_SUEneRIenL Beit® LS55 BLpasanr. 3 allewrssend s
(111 — 153) a%%eni_utelldsaqb.

College
Feveprd] Degree A B C, D K/

[RTAR N

280 160 “920 180 200

~Q
3 AKX

O
>
y

N
> e
120 100 140 J&275
2 B Lo H D
B.Tec] Nil N
. JTech. AN _ )
& o oh 1600 180 210 240 | %0

“3.:”: . L. 57600.8), 140 ’fjlv

A 40 ‘:\:’ - 3\ {

N BCom. [N < 920
L 230 190 250 210 200 o

L&, 19

B.C.A. Ao
9.5 160 250 130 220 210 Lo

Bov
111. What is the total number of students studying B.A. and B.Sc. in colleges C, D and E

together ? , Hao
il }
(A) 1230 (B) 960 é‘f@ 2

(C) 1010 (D) 970 )f@/\g@ ’

C, D wopmyth I seveyriisalisy B.A. mpmib B.Sc. L’ g d@ib Giongg (omesretiise et

GTEUTTGuT |6 GTHEHENGT 9
(A) 1230 (B), 960

& & S
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112\&%]’1& is the ratio of the number ol’s\‘m:ﬁ@-ms studying B.Com. in the college‘sﬁ\\:jB and C
together, (o the number of students studying B.C.A. in colleges C, D and E together ?
(A) 67:56 , (B) 60:36
(C) 08 : 36 () 60:56
A B topayh C sebeprfasefied B.Com. (19.smb.) LIQ S LD LoTawToL IS esT cTaRTERldenadi@Lh
C, D opmuid B sebguiiaeafien B.C.A. (19.8.61.) LU SSHLD Lonessreuisellesr Gr6ssTentidenad @b

2 6irerr aW&\HLh 616G © 5
(A)67 : 56 (B) 60:36 B
() 6836 (D) 60 : 56

FI3. What is the total number of students studying all the given degrees in college D 2
(A) 850 (B) 730 (C) 950 (D) 930
D sebgurdiufied GlanBhds sl ferer DTSS! LI L1 I FeanyLh L1195 Lh
Cliongs oresasiseleT sraveniidena creirar o
(A) 850 (B) 730 (C) 950 (D) 930

114. Find the missing term in the following series.

1
61157, 455667
(A) 25 (B) 26 () 27 (D) 28

GG @&ﬁ@&&:mur;\‘@‘@m auflenaguiicd aN@ i i mm,@“’é}m FeT(ILH19.S& 6 b, é\\a
1,6, 15,2, 45, 66g90 & A
(A)25 oV (B) 26 ©) 27 7 (D) 28 ®
& g ad
H5. If “Lilly’ is called ‘Lotus’, ‘Lotus’is called ‘Rose”, ‘Rose’ is called ‘Sunflower’ and ‘Sunﬂoyvc{(} ’
is cailc‘,@\jﬁsmine’ then which will be the Nati'&‘@‘l flower of India ? ,\Q\'
(A%Jr]ly (B) Lotus FC’) Rose (D) Sunflower & v
QE’M@')&ST 106V Bmisens elarayb SR ‘Gungom’ erasrayeh, ‘Guepm’ ‘@;;mtua;ngi@’
STaTaiD, ‘GMUSIBE”, Leelens’ sraraLh HELPEHLILILireb, @)b&Glwraflesr GFuws
LOGUIT GTGHIGHT 9 4
(A) afleuad) (B) smoeng (), @prapm (D) @hwsnps
116, I *BOOK” is coded as 43, what will be the code number for ‘PEN’ 2
(A) 53 (B) 33 (Cy 35 (D} 43
R GO B Glomplufled ‘BOOK” sreireigy 43 % GPlIL_L1Lipib. Cg Guomfufen,
‘PEN’ eravioummns @oi @b o B
(A} 53 (B) 33 (C) 35 (D) 43
ol [t
117, Find the value of n, if T+ 2 4+ 34+ 41 = 666,
(A) 66 (B) 34 (C) 36 (D) 38
122434 4 n= 666 eresflen, n-ufeir LOBNILY G TeisTss.
(A) 66 (B) 34 () 36 (D) 38
-
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\‘?‘Q‘V 118, Choose the missing ]ettw\‘*@z@t"of the given alternatives.

G,H, I, M, 2,V
(A T

@) S

(C) R

™
. N7
N
&
&
J
(D) Q

ClarEESLILI L 1prpmisefied aNBLIL L. eTapdomss CoibOsHGsayLh.

G, H,I,M, 2,V
(A)y T

B) S

(C) R

) Q

119. Which will come in the place of question mark (?) ? Find out from the options given :

DGY, FIL, HKN, JMP, 2
(B) LOQ

(A) LON

(C) LOM

&Gp Glen@ésin’ Gerer alent salel@is), Caeralsemuil @G5 augpLh
Glunmgswaer efent_sow GaipClsHdangih.

DG, FIL, HKN, JMP, ?
(B) LOO

(A) LON

120. Match the following :

[) 100 Thousands
1)y 1000 Thousands
1HI) I Crore

‘ -

V) 10¢81bres
*‘.Q‘ I Hor iv

We d b

a
. \.@3 ®)b
T ©c a d
\i;.: ) d b a ¢
Q155515
1) 100 oy ufrib »
11} 1000 gyufipib
1) 1 Gamg.
1V) 100 Gsmig.
. I H IH IV
4 (Aye d b a.
B)Yb a ¢ d
(Cye a b d
D)yd b a ¢
-
I“E \‘:§é
S
‘Q’\'V

(€) LOM

a) | Billion
b) 10 Million
¢) I Lakh
Ly O 4
d) 1 Million SO

a) 1 19evaeSlueir-
b) 10 tHlsveSlusair
c) 1 @evilFib
d) 1 thlebadluicsr
s

ik
"5
9

#adnn

.,:}‘
I
A&
{\,\"
o\
\'s¢
. N7
O\

(D) LOR
(D) LOR
R
A&
S
v
- &
o N7
N
&
Q]
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Observe the graph and answer the questions given below (121 — 122).
oL Gang Seucisd, G Qarhssliir Gearer Gaaraiseyd@ts (121 — 122)

LiGevemdamaih. .
5 dmoyh. g
ABC Company % growth rate in exports [l
ABC Blnyereig@ssr erpmynluiled Yo GITTES aNBlGLh g
30 &'"-‘a
2
7.0

o
Lh
1
1]
ot
d.)

|
& o + 1
@ /
G 15 1 2
% 10 + ,‘,)?,
% T
g5 v
=
T 0T
s
h_g L

T 90028 2003 2004 2005 2006

1o to; NS to to to 3{\.’.‘5
2002 Zat)% 2004 2005 2006
“xx i . z’\2§
‘{N\“’w year (6 (BL.LD) &
121, During 1}\@"‘1}121113/ years was the growth rate abO\@ fhe average growth rate over the given, X
NS o o
e o o8
g@)"bne ~ (B) two < :}( 7} three (D) four PP

QerRésiiil . g er@Geafsh Fgrsd cuariFs alBsdans il cIbHener
gy erpsancy aeiER aNBHib HBHLTS QOESS 7
(A} apabimy (B) @ues(y) (C) epsips (D) mireg

122. During how many years was the growth rate below the average growth rate over the given

years ?
(A) one (B) two
(C) three (D} four

QErdsii L yerEsaier sgraf auaitd® o18sHes allL e15gene <, eT(haesh
@

TSR aNESLh HDEUTS BN FESS
IRy
(A) gairay B) Guew@ — E
P T— D) BIE
& Nk
&
.. ”x'b\," M&'bs\" 3
Fod .y ¥ ¢
N V ~’
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A% 3
o KN
S
T\
. Q 2 QY
vy o R *»j‘ L
. 2% o0f2=17 f’]O@r{?/,,_,
(A) 0.04 (B) 0.4 o Ly o0
(C) 0.02 (D) 0.004
2% @Qetr2 =7 %
(A) 0.04 (B) 0.4
(C) 0.02 (D) 0.004
124. Find the correct answer. s o
Carpenter : Wood : : Tailor : 7
(A) Furniture (B) Dress
(C) Cloth (D) Sewing
Fiflwres LBlenev Bgiib0)sEHdhseyLh.
BFET ula\@;asf_em__: L g ushsmT: 7 | é\«.\‘
(2; ‘g,@mrwﬂm (g;)x}{gmt
(€)¥aseufl, (N ems 6
Ay adl
Q b 4
ALES- Find x
“~N ‘“:?:‘ 20
e
\&P
A G 3]
(A) 150° (B) 50° (C)y 180° (D) 30°
X-GiT LDGBILIL] BITEVSTS,
Bl
A i
(A) 150° (B), 50° (C) 180° (D) 30°
Q Q
\’*6\ ’ ~® ’
4 \
*‘2;\" ,.‘2;}
v v
. O\ . N
R\ Y




. Find the number of squares given in theigure.

{(A) 12 (B) 9 (C) 10 (D) 11
QRS BT LIL_SH0 GTSSaT FHTBISET 2.6laneT ?
[l
B
(i
(A) 12 (B) 9 (C) 10 (D) 11
127. Arrange the words into meaningful sequence.
1) Vegetable - 2) Market 3) Cutling
4y Cooking . 5) Food
(A) 1,2,3,4,5 & B L345 S
"Q ‘ ”é\ ’ ~é\
(C)3,1,2,5, 4?&\’ (DY 5,2, 1, 3,213..} sov
“‘;\/’ M{;}' "\0
aunigenseeRd oiidspaiar aiflensullet (b HQM- &
o, ” o ¥ “‘7”
1 5 TN 2 ; 6 3 b 1) - 4
) A | ) gbeng ),{@W@.«.ﬂw .\,@»
e LOULIGY 5) o awrey . O cx
W, 2,3,4,5 (B 2,13, 4,5 0
NAC) 3, 1,2.5,4 D) 5,2.1,3.4 QN
128. 5 girls A, R, D, S and V are sitting around a Pentagonal table. A is between R and D. S is to
the left of V. R is to the left of S. Who is to the right of A7
EIE
(A) S (B) D s
(C) R Y%
AR, D, S wimyih V 28w 5 Qe emiGa s Grosnaenid sppl Loipgicirenei.
R opmid 1 4@ @enr.Gu A s.eirenii. S ereriiai V & [QL-gitpLb o airenii.
R eredreieuit S & @L-SILmib 2 eirerni. A (g)er ey Lbad & @)praeut w2
(A) S (B) D
b
()R D) V R &
D RESY
o 3 -
& \§ : <
\&
.“2}'&/ Mx’;;" ‘.,:Q b
- “?" » ?~ ’.’7~
.o o A&
A\’s\ A\”\Q\ A\&\
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56 In a row of children, Bali is seventh from the 1eft and Moti is fourth from the right. When
Bali and Moti exchange positions, Bali will be fifteenth from the left. What will be Moti’s

position from right ?

i

(A) Eighth
(B) Fourth

2
[alF

EIFE
2

(C) Eleventh
- (D) Twelfth
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he following diagrar{@z’st depicts the relationship among Ele fnfs, Wolves

QO
and Animals 7 C’} (,.,\\\

£y
<

~N S\
Nedle

BHIEEH PHILD Ge0B G 6T

. V .
38, Which one of ¢
o

1SshralpLh suen gLl BIGalle) 615 WITG GBI 5 6IT, G
o HurapPIer 2. pena Ppriirs PSsNs&ps 2 —
[}

(©) __ ) @ O

4}\ 4
S &3
Pod >
) AV
D RS D
Dy ¥ A
2" . N ™
“ O . N\ &’
AN D o N
RN Y




The following bar diagram shows the number of students who applied for, appeared ;T‘and passed

in a certain exam (in thousands) for a given period. Study the bar diagram carefully and answer
the 3 questions that follows (131 — 133).
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131 ‘th"at is the approximate average perceh ¢ of failed students ? o,
Q) pp gep &@g & /
(A) 47 (B) 59 4
(C) 41 (D) 35 \ 7 L%.k
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132. In which of the following years the number of students who did not appear at the exam s
. - Lo
the highest * | o o
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Which of the following years shows the best performance of the passed students 7
(A) 94 (B) 95 (C) 96 (1) 98
gy arPaaficy, Cpidd Glpp oremauiseies Fpbs HGORTIFTIT
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(A) 94 (B) 95 (©) 96
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Harish is taller than Charu, but shorter than Raju. Charu and Dhilip are of same height but

taller than Ashok, then which of the following option describes Dhilip ?
(A) Harish and Dhilip are of same height

(B) Dhilip is shorter than Harish

(C) Dhilip is shorter than Charu

(D) Dhilip is taller than Raju
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A shopkeeper bought a chair for ¥ 325 and sold it for ¥ 350. Find the profit percentage.
9 Ty
@A) 789 (B) 9% [
13 13 ol
: 9
(©) 6% D) 7%
13 13
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138.
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_ Select the one which is different from other ¢ three responses 7
3,4,5,9
(A) 3 (B 4
() 5 (D) 9
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(A) 3 . (B) 4 e
(C) 5 Dy 9
(23 & 'y
Statement I 108 is a perlect square number.

Statement E] 1 A cube has 6 faces.
(A) 1 only correct (B) 1l only correct

&\N (D) 1and Il wrong ,&\“"3
A &
outdEuib I 108&3{ GOt G (Lp(Lp BiTdhdh STGESTEWTIT(S w\’&/
?7” oY

(C) 1and 11 correct
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Among A, B, C, D and E each having different amount of money. C has more money than
only E, B and A. Who among them has the highest amount of money ?

(A) C (B) D
() E (D) B
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139, Ramesh goes towards NONI‘ turns right, then turns right again and then goes to the left.

Which direction is Ramesh facing ? -

1¢ CCiIon 18 ANESN 1acing now @_

(A) East (B) West B
(C) South {D) North
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140, If the sum of two numbers is 14 and their difference 1s 10. Find the product of the two

numbers.
(A) 40 & & Q
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534 v i
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